V3 3

® V2-2v3 @ V2+2V3
@vi+2v2  © V5-242

7+6\/€_4(\/§+£) < 7¥chs] 5ba9

® V3-2v2

S5
T+6v6 V3
Vi <W+_>
_ 7‘/_—;6\/__4‘/—_£

:M_m/i: V3+2v2




1
(3x 7

) <5x+ Zy) oA xy 2] Al

@0 ©))!

2~
T

_1:_
1

@ 2




1
D y=4x2 @ y=-x* (@)yz—3x2
1
@ y= ¥ © y=2x

A2 EF5HE (129 AS) <0 0| 2R y = -3x?




OJAFdg y = 2x% - 8x + 2 O T Lo T AT F &2 A= BT
A=RH? (FE 27H)

y=2(x?-4dx+4-4)+2=2(x-2)°-6




o, o; @ @ -2

1
0= —(x-27

o dE =2

Z, x=2%2 o, g0




6. 5V24- V544 V96 & A3 5HH AVB 2 LrERE 5= it o] o,
A+ B 32?

@® 20 @ 19 ® 18 @17 ® 16

5v24 — V54 + V96 = 10 V6 — 3V6 + 46 = 11 V6
a2t A=11,B=6°|E2 A+ B=17 o|t}.




7. x244x-21, 3x2-5x-12 9] &2l ALY

O x+4 @ x+7 @ 3x+4

@ 3x-9 @x—3

P +4x-21=(x-3)(x+7)
3x2 —5x—12 = (x-3) (3x + 4)




& % 2012 9 ARrE ﬂﬂdaﬂl 317] glste] ol 8 H B4 BAL
u}2 7] el AL (2 a, b, ¢ d = A5

© (a- by @+ by
® (ax+b)(cx+d) @ (a+b)(a-b)
©® (x+a)(x-b)

2012 = (200 + 1)2 = 40000 + 400 + 1 = 40401




Lyl
2" "8
@ 9x%2 -49° =0

@ x?

0

@ x4 2x

®)2x2-8x+8=0

® 4x* +15x+9=0

.

i
=0




10.  oh& 272 o ARk4e] ot of 2
A AL o=

Mo
9 ¢

(@’y:—x2+2x+3

U

@ y=-2x*+3

@ y:—3x2—|—2x—1

TR0 F#7E (1, 4) o]EZ
y=a(x-17>+4°]1, 2 (0, 3) & Atnz
3=a(0-1)°+4 = a=-1
'.y:—(x—1)2+4

=—x2+92x+3




11. a>0 % ), the A1 7hes] shat?

V(=a)? + Via® - \/(-5a)?

-3 @2u ©- @ a ® 2

a>0 % of

V(=a? + Via? - \/(=5a)?
= —(-a) + 2a - (5a)
=a-+2a-5a

= —2a




% i 3+4\/§_ ol _ 0] 7ZY09
\/5<‘/E+\/§ S =aV5+bV10 L W, b-a o] F27
(H, a, b= FE5F)
1 2 7 8 3
oy o o3 @y o
45 5 3+4+2
g(2Y5 8 ) 3+4v2
\/_<V1_+«/‘>+ v
—2\/1_+5\/_ 3«/5+54\/E
\/_
— o yTo + VI <3+g)‘/5
14;)/_ 34 5
34 14
d:E,b g
b—a=ﬁ




13. o2 ZFofA d7F x =2 = x = -3¢l oA A1L9

@ (x-2)(x+3) =0 @ (x+2)(x-3)=0
® (2x-1)(3x+1)=0 @ (2x+1)(3x-1)=0
® (x-2)(3x-1)=0




14.

A THE A ] x glel dhstel thg Aol HAT T, a+b+c I
are

ax>-3x->b _
42 +cex-5

) )

(TN
N ©
Sl

&

N |

ax> —3x—b 9=

A2 fex—5 28 BEs
(@a=8)x* +(-3-2c)x—b+10=0

o] Alo] A& tr2 4] A9 x gholl iste] stE x of

540l
G a-8=0, —3-2c=0, —b+10=0
3
L a=8b=10, c=-2
a Cc 5
33

atbte=— o|tt.




15. 91o]o] A% x o] 4 o] ¢ A ), [x] = a 2 ehi7l2 Bt
2<x<3d o, FAGA [x]x® - x-5[x] =0 9 sf=?

5 7 3 5
@  ; ® 3 ®-2  ©-

2<x<30|EBZR [x] =2 0|t}
[x] =2 & tYstH 2x2 - x - 10 = 0 o] 2L, QI
(2x-5)(x+2) = 0°]t}

il
olt
Ok
=)

o

o

;x:g(?23x<$




